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- All questions are to be attempted.
Each question is divided in five parts.
Part (A) of each question i:; compulsory.
Attempt any three from the. remaining four parts.
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. (A) State True or False. Give reasons for your answer :

(2)
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() qucstic financial assets held by the domestic residents are part of national
wéalth. of the domestic countrj.r.
(i) Indian capifal and labour used’ abroad to produce output are incluc.ied in
| India’s Gross National Product.
B) ) ‘The country of Myrule produced the.folrowin.g quaﬁtity of apples, ba
and botatoes, with the price of each listed . in dollar :
Year 1999 (Base Year) 2000
Quantity Price Quantitg.f Price
Qanmas 3000 2 2000 3
Pota?oes 6000 3 12000 . 2
Apples. 8000 4 6000 6

(@) What is the

between two years ?

percentage change in Real GDP (Gross Domestic Product)
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(b) What is the increase in the overall- level of prices as measured by the

GDP deﬂat_or in these two years ?

(¢) Based on the GDP deflator, what is the inflation rate from 1999
to 2000 ? 2+2+1=5 -
How is real GDP an imbénant measufe for assessing the economy’s growth

performance ? 2

Explain the concept of nominal interest rate, real interest rate and expected

. real interest rate. Which interest rate is more important for the decisions made

by the lenders and borrowers ? Give reasons for your answer. -5

The Company ‘X’ sells mixed fruit shakes for ¥ 54,000, using apples, bananas

and grapes that it buys from another firm for ¥ 20,000. It pays ¥ 1,000
in .taxes, and ¥ 3,000 to its workers ‘as wages. What ‘is its value
added ? 2

Define Natiorlial Income. _ 2

P.TO.
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(i) Calculate GDP and National Savings I.from;the following data : 5
| 'Compensat_ion of Emplc.)yef;s. = 7937
Income of self-crﬁployed .'=_ 1006
Rental income - = 110
' Corporatet_ profits = .1260
Indirect business taxes = 094
Consumption of fixed capital | =: 1747
Factor income received from rest of world = 709
Payment of facto.r income to rest of the world = 567.
Consmnptioq = 9765
Government spgnding _ .9'00'.

(E) () “Increase in National - Savings leads to increase in Nétional Wealth,”

Explain. "

(if) .What do you mean by Balance of P_aymems Accounts ? What is tﬁe

fundarpental balance of payments identity ?
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-_'(éiz) A payment of ¥ 500 is made by an Indian citizen for dinner at-a T‘hai

rostaurent in Thailand by his Visa credit card. How is this transaction accounted

for in the balance of payments agcégm of India ? 2
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"“An increase in the rate of interest leads to an increase in the price of

bonds.” True or False. Give reasons.

In the country of Wilnam, the velocity of money is constant. If real GDP
grows by 6% per year, the money stock grows by 16% per year, and

the nominal interest rate is 13%, then what is the real interest rate ? 2+2=4

The Central Bank of Singapore issued currency .worth 2 million dollars in

_circulation. Out of this, citizens hold 1 million dollars in hand and’ deposit

| the rest wi‘th the banks.

(@) What is the' money supply in Singapore, if required reserve ratio

is 20% ?

(b)) By how mwh amount will money supply’ change if citizens

withdrew 5,00000 dollars from the banks for ShOPang during festival

season ?

2142

What are the costs>f unexpected inflation 9
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(C) () Suppose income is given at 300 units and money supply is fixed at
2-00 units. Initially individuals wish to hold money balances equal to one

third ‘of their incomg. If individuals increase money demand to half of their

inoom-e, how does this change in money demand affect the eﬁuilibn'gm value

of aggregate price level ? Explain the process -using tﬁe Cambridge version

of Quantity Theory of Money. 4
(i) Explain the Orthodox Policies to stabilize Hyperinflation. 3

(D) What are the determinants of der;land for Money ? How is money market equilibrium
detcrmin-ed ‘?. How does équilibrium rate of interest change with a decrease in
mdney éupply ? 7

(E) () Using the Fisher Approach_ to Quantity Theory of Money, explain the

relationship between quantity of money an& price level. 4
"(i:) Explain High Powered Money. 3
(30) () “mﬂﬁq’f?ﬂmﬁmﬁ*ﬁm% |R€1m
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(A) For each of the following statements, .expla'in whether you agree or disagree '
@0 A tax cut will increase the equilibrium level of GDP'irtespe;:tiv.e of govemment
budget being in deficit or Surplus.
(iry The reductio;? in government transfers lowers the equilibrium level of
output., | 2+2=4
| (B) Analyse the‘impact of an increase in the marginal.income tax rate on the output,

employment and price level in the classical model. 7
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() If the economy is in the disequilibrium zone of excess supply: in" the
goods market and an excess demand in the nﬁone.y market - then, how the

adjustment process leads to the equilibrium -in the IS-LM Model ? Show

using diagram. . : 3

-

(i)  How does the siopc of the LM curve play an important role in deteﬁnining

'_ the eﬁ"ectiveness of Monetary Policy ? 4
If
Consumption ' = 200 + 0.6 Yd
Govemment Spending .= 150
Investment | = 150 - 8i,
Taxes | " = 200

Money Demand : L'=02 Y < 2 -_

Real Money Supply (I\_/I/I_’) 160

It

(Yy = Disposable Income, i = interest rate and Y = inco'me)

() Find the equilibifiuin level of income and the rate of 'interegt,
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(i) How does the equilibrium level of income change with an increase in govemnment
_ expenditure to 210 ?
(iify By how much amount should .mom.:y supply change to keep the level of
income .constant ? | | - ' 3+2+?=7
E) .(1)- Usiﬁg IS-LM framework. show the imp:;ct of the _followir.lg policies on income
| interesl- rate and investment
(;1) Removal of investment subsidy
(b) Rise.in tax rate. 2.5+2.5
(ii) lExplain the concept of liquidity t-rap. 2
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